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1.You are creating a SnapMirror relationship and custom SnapMirror policies are not defined. 

Which default policy will be applied in this scenario? 

A. MirrorAndVault 

B. Default 

C. SMDefault 

D. DPDefault 

Answer: D  

Explanation: (https://library.netapp.com/ecmdocs/ECMP1196817/html/snapmirror/create.html) 

 

2.You must determine if there have been any backup problems overnight. 

Which two reports in OnCommand Unified Manager 6.2 would provide you with the required information? 

(Choose two.) 

A. Unresolved Incidents and Risks area 

B. OnCommand Unified Manager Dashboard 

C. OnCommand Cluster Events Details 

D. OnCommand Job Events Details 

Answer: B,D  

Explanation: (https://library.netapp.com/ecm/ecm_download_file/ECMP1653271) 

 

3.You have created a new CIFS share but it is inaccessible. After verifying the export policy, network 

connectivity, junction path, and permissions are all correct, you realize there is root volume load-sharing 

mirror in place. 

What should you do next to make the share accessible? 

A. Update load-sharing mirror. 

B. Update the root volume policy. 

C. Re-create the CIFS share. 

D. Modify the CIFS share permissions. 

Answer: C  

Explanation: (https://library.netapp.com/ecmdocs/ECMP1368017/html/GUID-7FFCC041-827B4567-8C5

C-8B124B75326C.html) 

 

4.You want to provide your team with a SnapProtect report that shows how many backups succeeded, 

were delayed, and failed over the last 30 days. You also want detailed information about the jobs, agents, 

and clients. 

Which CommCell report provides the necessary information? 

A. Backup Job Summary 

B. Activity 

C. Health 

D. SLA 

Answer: A  

Explanation: 

(http://documentation.commvault.com/commvault/v10/article?p=features/reports/types/js_backup_ 

online_help.htm) 
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5.You are mirroring the root volume of a storage virtual machine (SVM) according to NetApp best 

practices. 

In this scenario, which two statements are true? (Choose two.) 

A. A mirror is only needed outside of the local HA pair. 

B. A mirror is needed on every node in the cluster. 

C. The mirrors are only needed on the nodes that do not host the source volume. 

D. The relationship should be set to LS. 

Answer: B,D 

Explanation: (https://library.netapp.com/ecm/ecm_download_file/ECMP1653502) 

 


